o g
Elesa = = K|z ~EC ZE = CINml# q
Ic AFQF L B f:25 fizo2s H W h2 bh d|d2 | |d3 ds d5s hs b2 b3 | p SH/CH| g
425521 | CFM.40 p-M5x12 40 40 25 25 9 55 5 14 4|M5 12 26
425511 | CFM.40 SH-5 40 40 25 25 9 55 5 14 4 55 105 3 14
425512 | CFM.40 CH-5 40 40 25 25 9 55 5 14 4 55 105 17 5 14
425531 | CFM.40 p-M5x12-SH-5 40 40 25 25 9 55 5 14 4(M5> 12|55 105 5 3 20
425532 | CFM.40 p-M5x12-CH-5 40 40 25 25 9 55 5 14 4|M5 12|55 105 17 5 5 20
425621 | CFM.50 p-M6x12 5 5 30 30 115 65 6 18 6 (M6 12 5 50
425611 | CFM.50 SH-6 50 50 30 0 15 65 6 18 6 6.5 125 5 30
425612 | CFM.50 CH-6 5 5 30 30 115 65 6 18 6 6.5 125 3 5 30
425631 | CFM.50 p-Mé6x12-SH-6 50 50 30 30 15 65 6 18 6 M6 12|65 125 5 5 40
425632 | CFM.50 p-M6x12-CH-6 5 5 30 30 115 65 6 18 6 (M6 12 [ 65 125 3 5 5 40
425721 | CFM.60 p-M8x14.5 60 60 36 36 15 85 8 21 8 [M8 145 5 101
425711 | C(FM.60 SH-8 60 60 36 % 15 85 8 21 8 85 165 5 57
425712 | CFM.60 CH-8 60 60 36 36 15 85 8 21 8 8.5 16.5 4 5 51
425731 | (FM.60 p-M8x14.5-SH-8 | 60 60 36 6 15 85 8 21 8 M8 145|85 165 5 5 79
425732 | CFM.60 p-M8x14.5-CH-8 | 60 60 36 36 15 85 8 21 8 (M8 145( 85 16.5 4 5 5 79
425812 | CFM.60-45-SH-6 60 70 34 45 145 8 75 26 8 6.5 125 5 62
425822 | CFM.60-SL-CH-6 60 70 34 40 145 8 75 26 8 4 65 105 4 61
Elesa & BN RPNES o) & q
icE AHRE L B f+0.25 12025 H h1 h2 b1 d d3 d4 C[Nm] # g
425541 | CFM.40 SH-5-CLEAN 40 40 25 25 9 55 5 14 4 55 10.5 3
425641 | CFM.50 SH-6-CLEAN 50 50 30 30 11.5 6.5 6 18 6 6.5 12.5 5
425741 | CFM.60 SH-8-CLEAN 60 60 36 36 15 8.5 8 21 8 8.5 16.5 5
# 38 LN 29 882 (torque) BB
t ‘
olje ollje ﬁ
Fé ~|# 1 i~ :
O] (? orje =
Li-g &AL 4% 3s g gL 90° 2k 3t
=29 Z|Cf A& F3tSa [N] Z|C A& 55 Sr[N] Z|C A& 3t S90 [N]
(FM.40 p-M5x12 2000 1900 1000
(FM.40 SH-5 1900 1900 1280
(FM.40 CH-5 1900 1600 1000
(FM.40 p-M5x12-SH-5 1900 1900 1000
(FM.40 p-M5x12-CH-5 1900 1600 1000
C(FM.50 p-M6x12 2340 2560 2100
(FM.50 SH-6 2630 2400 1720
(FM.50 CH-6 2860 2410 1360
(FM.50 p-M6x12-SH-6 2340 2400 1720
(FM.50 p-M6x12-CH-6 2340 2410 1360
(FM.60 p-M8x14.5 3000 3940 2130
(FM.60 SH-8 3320 2960 3070
(FM.60 CH-8 3440 2810 2170
(FM.60 p-M8x14.5-SH-8 3000 2960 2130
(FM.60 p-M8x14.5-CH-8 3000 2810 2130
(FM.60-45-SH-6 2920 3010 1310
(FM.60-SL-CH-6 960 1200 1360
ELESA 2%, 22 ol o7{3t I A9 ELESA £9S HXE Of 34 SXIS 2|3t} Elesa





